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ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× •Ûä¨Û ÍÛ¾ÛÛ¶Û ™öé. 
 

1. ¶Ûà˜Ûé¶ÛÛ ïõÛéˆ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé ›÷ÈÛÛ¼Û 650 ¬Ûà 700 ÉÛ¼þùÛé¾ÛÛ× ›÷¨ÛÛÈÛÛé : 
 (…) ÈÛÍ©Ûà ÉÛÛÍªÛàýÛ ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛÛ¶ÛÛ× ¾Ûä”ýÛ ÎÛÛé©ÛÛé ›÷¨ÛÛÈÛà ïõÛéˆ¸Û¨Û ¼Ûé ÎÛÛé©ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

…¬ÛÈÛÛ 
  ÍÛÛ¾ÛÛÜ›÷ïõ ÈÛÍ©ÛàÉÛÛÍªÛ¶Ûä× ïõÛýÛÙ“ÛéªÛ ›÷¨ÛÛÈÛÛé. 
 (¼Û) ¸Ûó›÷¶Û¶ÛÉÛàÅÛ©ÛÛ¶ÛÛé …¬ÛÙ …Û¸Ûà ¸Ûó›÷¶Û¶ÛÉÛàÅÛ©ÛÛ¶ÛÛ× ¸ÛóïõÛÁõ ›÷¨ÛÛÈÛÛé. 7 

…¬ÛÈÛÛ 
  ÝÅÛ•Û ¸Ûó¾ÛÛ¨Û …é¤øÅÛé ÉÛä× ? ÝÅÛ•Û ¸Ûó¾ÛÛ¨Û¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛà ½ÛÛÁõ©Û¾ÛÛ× ÍªÛà¶ÛÛ× …Ûé™öÛ ¸Ûó¾ÛÛ¨Û¶ÛÛ× 

ïõÛÁõ¨ÛÛé ›÷¨ÛÛÈÛÛé. 
 
2. ¶Ûà˜Ûé¶ÛÛ ïõÛéˆ …éïõ ¸ÛóÊ¶Û¶ÛÛé ›÷ÈÛÛ¼Û 650 ¬Ûà 700 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 
 (…) ÈÛÍ©Ûà ÍÛ×’õÛ×Ü©Û¶ÛÛ× ÜÍÛ±ùÛ×©Û¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 7 

…¬ÛÈÛÛ 
  ïäõ¤ä×ø¼Û Ü¶ÛýÛÛé›÷¶Û¶ÛÛé …¬ÛÙ …Û¸Ûà ½ÛÛÁõ©Û¾ÛÛ× ïäõ¤ä×ø¼Û Ü¶ÛýÛÛé›÷¶Û¶Ûà ›÷ÄõÜÁõýÛÛ©Û ›÷¨ÛÛÈÛÛé. 
 (¼Û) ïäõ¤ä×ø¼Û Ü¶ÛýÛÛé›÷¶Û ©ÛÁõºõ¶ÛÛ× …Ü½Û•Û¾ÛÛé ›÷¨ÛÛÈÛÛé. 7 

…¬ÛÈÛÛ 
  ½ÛÛÁõ©Û¾ÛÛ× ÈÛÍ©Ûà¶ÛàÜ©Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
 
3. ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (300 ¬Ûà 400 ÉÛ¼þùÛé¾ÛÛ×) 
 (1) ¾ÛÛ¶ÛÈÛÈÛÍ©Ûà …¶Ûé ÍÛ¾ÛÛ›÷ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ 4 

…¬ÛÈÛÛ 
  ÈÛÍ©Ûà¶Ûà Š¸ÛýÛÛé•Ûà©ÛÛ …¶Ûé ¾ÛÐü«ÈÛ. 
 (2) œ÷ÜÈÛ©Û ›÷¶¾Û¶ÛÛé …¬ÛÙ, ÅÛ“Û¨ÛÛé, ¾ÛÐü«ÈÛ, ©ÛïéõþùÛÁõà 4 

…¬ÛÈÛÛ 
  ¸Û×˜ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ…Ûé¾ÛÛ× ïäõ¤ä×ø¼Û Ü¶ÛýÛÛé›÷¶Û¶Ûä× Í¬ÛÛ¶Û 
 (3) ïäõ¤ä×ø¼Û ïõÅýÛÛ¨Û ïõÛýÛÙ’õ¾Û¶Ûà ÜÍÛÜ±ù…Ûé 4 

…¬ÛÈÛÛ 
  ¾ÛÛÅ¬ÛÍÛ¶ÛÛ× ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ…Ûé. 
 (4) ›÷¶¾Û ÍÛ¾ÛýÛé …ÛýÛäÌýÛ¶Ûà µÛÛÁõ¨ÛÛ…Ûé 4 

…¬ÛÈÛÛ 
  ¾Ûè©Û ›÷¶¾Û 
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4. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 12 
 (1) ÈÛÍ©Ûà …ÛýÛÛé›÷¶Û …¶Ûé Ü¶ÛýÛ×ªÛ¨Û …×•Ûé ›÷ÈÛÛÐüÁõÅÛÛÅÛ ¶ÛÐéüÄõ¶ÛÛ× ÜÈÛ˜ÛÛÁõÛé ›÷¨ÛÛÈÛÛé. 
 (2) ÈÛÍ©Ûà¶Ûà •Ûä¨ÛÈÛ«ÛÛ …é¤øÅÛé ÉÛä× ? 
 (3) ÁõÛÌ¤ÖøàýÛ ÍÈÛÛÍ¬ýÛ ¶ÛàÜ©Û¶ÛÛé Ðéü©Ûä ›÷¨ÛÛÈÛÛé. 
 (4) ïäõ¤ä×ø¼Û Ü¶ÛýÛÛé›÷¶Û …é¤øÅÛé ÉÛä× ? 
 (5) ˆÌ¤ø ÈÛÍ©Ûà ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? 
 (6) ¾Ûè©Û ›÷¶¾Û¶Ûà …ÍÛÁõÛé ›÷¨ÛÛÈÛÛé. 
 
5. (…) ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : 14 
  (1) ½ÛÛÁõ©Û¾ÛÛ× …©ýÛÛÁõ ÍÛäµÛà¾ÛÛ× ïéõ¤øÅÛà ¸Û×˜ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ …¾ÛÅÛ¾ÛÛ× …ÛÈÛà ? 
   (…) 12 (¼Û) 11 
   (ïõ) 10 (¦ø) 13 
  (2) ½ÛÛÁõ©Û¾ÛÛ× ïäõ¤ä×ø¼Û Ü¶ÛýÛÛé›÷¶Û ïéõ¶®ù ïõýÛÛ ÉÛÐéüÁõ¾ÛÛ× ÉÛÄõ ¬ÛýÛä ? 
   (…) ¾ÛíéÍÛæÁõ (¼Û) õ…¾ÛþùÛÈÛÛþù 
   (ïõ) ¾Ûä×¼Ûˆ (¦ø) ïõÅÛïõ«ÛÛ 
  (3) ÈÛµÛ©Ûà ›÷©Ûà ÈÛÍ©Ûà ¸ÛÁõ ÍÛÛíé¸Ûó¬Û¾Û ÜÈÛ˜ÛÛÁõ ïõÁõ¶ÛÛÁõ ÈÛíéßÛÛÜ¶Ûïõ ïõÛé¨Û Ðü©ÛÛ ? 
   (…) ÍÛà›÷ÈÛïõ (¼Û) ¾ÛÛÅ¬ÛÍÛ 
   (ïõ) …é¦øÈÛà¶Û ïéõ¶Û¶Û (¦ø) ÁõÛé¼Ûà¶ÍÛ 
  (4) ÍªÛà¶ÛÛé ¸Ûó›÷¶Û¶Û •ÛÛÇÛé ïéõ¤øÅÛÛé ? 
   (…) 15 ¬Ûà 44 (¼Û) 16 ¬Ûà 35 
   (ïõ) 20 ¬Ûà 45 (¦ø) 18 ¬Ûà 25 
  (5) ½ÛÛÁõ©Û¶Ûà •Û¨Û¶ÛÛ ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛ× þéùÉÛ¾ÛÛ× ¬ÛÛýÛ ™öé ? 
   (…) ÜÈÛïõÜÍÛ©Û 
   (¼Û) ÜÈÛïõÛÍÛÉÛàÅÛ 
   (ïõ) …Å¸Û ÜÈÛïõÜÍÛ©Û 
  (6) ½ÛÛÁõ©Û¾ÛÛ× ÈÛÍ©ÛàÜÈÛÍºõÛé¤ø¾ÛÛ× ¾Ûä”ýÛ ïõÛÁõ¨Û ïõýÛä ™öé ? 
   (…) Í¬ÛÇÛ×©ÛÁõ (¼Û) ÅÛ•¶Û 
   (ïõ) ÿ˜Ûà ¸Ûó›÷¶Û¶ÛÉÛàÅÛ©ÛÛ (¦ø) •ÛÁõà¼Ûà 
  (7) ïõÛéˆ¸Û¨Û ¸ÛóþéùÉÛ¶ÛÛ× ÈÛÌÛÙ ÍÛ¾ÛýÛ•ÛÛÇÛ¾ÛÛ× ›÷é ÈÛÍ©Ûà ÐüÛéýÛ ©Ûé¾ÛÛ× ¸Ûó©ýÛéïõ 1000 ÈýÛÜî©Û…Ûé þùà¥ø 

›÷é¤øÅÛÛ ¾ÛÁõ¨Û ¬ÛÛýÛ ©Ûé ¾ÛÛ¸Û¶Ûé ÉÛä× ïõÐéüÈÛÛýÛ ? 
   (…) ¾Ûè©ýÛäþùÁõ (¼Û) ïõÛ˜ÛÛé ¾Ûè©ýÛäþùÁõ 
   (ïõ) ÈÛÍ©Ûà ÈÛèÜ±ùþùÁõ (¦ø) ›÷¶¾ÛþùÁõ 
 (¼Û) ›Ûé¦øïõÛ ›Ûé¦øÛé :  

(1) ½ÛÛÁõ©Û¾ÛÛ× ïäõ¤ä×ø¼Û Ü¶ÛýÛÛé›÷¶Û¶Ûà ÉÛÄõ…Û©Û 2000 
(2) ÈÛÍ©Ûà¸Û×˜Û¶Ûà Áõ˜Û¶ÛÛ 1964 
(3) ÁõÛÌ¤ÖøàýÛ •ÛóÛ¾Ûà¨Û ÍÈÛÛÍ¬ýÛ Ü¾ÛÉÛ¶Û 2002 
(4) ÁõÛÌ¤ÖøàýÛ ÍÈÛÛÍ¬ýÛ ¶ÛàÜ©Û 2005 
(5) …éïõ ÈÛÌÛÙ¶Ûà ‹¾ÛÁõ ÍÛäµÛà¶ÛÛ× ¼ÛÛÇïõ¶Ûé ÉÛä× ïõÐéüÈÛÛýÛ ? infant/child 
(6) ½ÛÛÁõ©Û¾ÛÛ× Ü¶ÛþùÉÛÙ ¶ÛÛêµÛ¨Ûà ¸Û±ùÜ©Û (S.R.S.) 1951 
(7) ½ÛÛÁõ©Û¾ÛÛ× ïéõÁõÅÛÛ¾ÛÛ× 1000 ¸ÛäÂúÌÛÛé…é ÍªÛà…Ûé¶Ûà ÍÛ×”ýÛÛ 1040/1050 

________ 
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Instruction : All questions carry equal marks. 

 
1. Answer any one of the following questions in 650 to 700 words : 
 (a) Discuss major sources of Data for Human population. State any two sources. 7 
      OR 
  State the functional area of Social Demography. 
 (b) Give meaning of fertility and state its types. 7 
      OR 
  What is sex ratio ? State the importance of sex ratio and state the reasons for low 

female ratio in India. 
 
2. Answer any one of the following questions in 650 to 700 words : 
 (a) Explain theory of Demographic Transition. 7 
      OR 
  Explain the meaning of Family Planning and explain the need of family planning in 

India. 
 (b) State the approach towards Family Planning. 7 
     OR 
  Discuss India’s population policy. 

 
3. Write short note (300 to 400 words) : 
 (1) State the relationship between Society and Population. 4 
     OR 
  Populatio’s uses and importance. 
 (2) State the meaning, characteristics, importance, carefulness of live birth. 4 
      OR 
  State the importance of family planning program in Five Year Plan. 
 (3) State the achievements of family welfare program. 4 
      OR 
  State the criticism of Malthus’ principles. 
 (4) Expectancy of Life at Birth. 4 
    OR 
  Still Birth 
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4. Answer in short : 12 
 (1) State the thoughts of Jawaharlal Nehru regarding population planning and control. 
 (2) What is population quality ? 
 (3) State the objects of National Health Policy. 
 (4) What is Family Planning ? 
 (5) What is Optimum Population ? 
 (6) State the effects of Still Birth. 
 
5. (a) Choose the correct option : 14 
   (1) How many Five Year Plans have been executed yet ? 
    (a) 12 (b) 11 
    (c) 10 (d) 13 

  (2) In which city of India was the first family planning center initiated ? 
    (a) Mysore (b) Ahmedabad 
    (c) Mumbai (d) Kolkata 

  (3) Who was the first person to give scientific approach to population increase ?  
    (a) Multhus (b) Sizvek 
    (c) Edvin canon (d) Robins 

  (4) State the fertility period of a woman. 
    (a) 15 to 44 (b) 16 to 35 
    (c) 20 to 45 (d) 18 to 25 

  (5) In which category does India fall economically ? 
    (a) Developed 
    (b) Developing 
    (c) Underdeveloped 

  (6) State the main reasons for population explosion in India. 
    (a) High fertility rate (b) Marriage 
    (c) Migration (d) Poverty 

  (7) _________ is known as numbers of deaths per thousand population during a 
given year. 

    (a) death rate (b) raw death rate 
    (c) population increase rate (d) birth rate 

 (b) Match the following : 
(1) Start of family planning in India – (a) 2000 
(2) Formation of population commission – (b) 1964 
(3) National Rural Health Mission – (c) 2002 
(4) National Health Policy – (d) 2005 
(5) What is a person of age upto one year ? – (e) infant/child 
(6) Sample registration system in India (SRS)  – (f) 1951 
(7) Male-female ratio in Kerala – (g) 1040/1050 

__________ 
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